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u=1.1181 d=0.9354 4.88%  
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 (non--dividend--paying) (underlying asset)

(European call option) A B  

 S=50  

 (geometric Brownian motion)  

 (risk-free annual rate of interest) =5%  

  (volatility) =30%  

 A 1T  65K   

 5969.0)(,7405.0)( 11  dNdN  
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 B 0.5T  55K   

       Delta 0.5931, Gamma 0.0436, Vega 16.36    
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A B  

          Delta 0, Gamma 50, Vega 20,000      

A B (risk free) Gamma Vega  
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0S T TS (risk-free annual rate of 

interest) r T (forward contract) 0,TF  

0,TF 0S (arbitrage) 4  
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